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Diagram not drawn to scale

Find the size of the angle marked x.

Kz 180790 = 28
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19. Three points A, B and C lie on the circumference of the circle centre O,
The tangent RS meets the circle at A.

B

Diagram not drawn to scale.

FaN
Given that RAC = 62°, find the following angles giving reasons for your answers.

(a) AaB

(b) ABC _
A 2 - Cmgb
R 0"‘0 _490 -61 0¥ .
e . ﬂBC Fp-w-2< 6’2 Ca»»;{n 4 -‘JO) i
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Diagram not drawn to scale.

Four points A, B, C and D lie on the circumference of the circle centre O.
The tangent TP touches the circle at C. The radius OB is parallel to DC.
Given that BAC = 26°, find each of the following angles, giving reasons for your answers.

(a) Bf)\C
Boc * Lwpne - sl :472°

OAﬁk @cp/&re. w. {’um mﬂu,@ Cu*o_»-é,‘

s
(b) DCT
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(b)

Diagram not drawn to scale.

Three points R, § and T lie on the circumference of the circle.
The tangent PQ touches the circle at S.

A
Find TRS, giving a reason for your answer.

2]

Turn over.
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(184-09)

(a)

Diagram not drawn to scale.

Four points A, B, C and D lie on the circumference of the circle.
The lines AC and BD intersect at the point P,

Vas FAY A\
Given that BAC = 32° and DPC = 134°, find the size of ACD giving a reason for your
a’r\1§wer

BbC = pRe 1" Langn I Sant e sRgpat 000 o.«,,wl)
ﬂc,?),- IXO’I'SLL ’}1..1 1’-—-[ CM?WLK,A -LK(}) 5

(b)

P

Diagram not drawn to scale.

Three points £, F and G lie on the circumference of the circle.
The tangent PT touches the cncle at G.

Given that EGP 80° and F GT 60°, find the size of FEG giving a reason for your answer.

F\&’SOKoJ%;egMPMM)

Turn over.
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20.

Diagram not drawn to scale.

Four points A, B, C and D lie on the circumference of the circle with centre O.
Fal

The tangent TP touches the circle at C. Given that DCP = 58° and DAB = 110°, find each of the

following angles, giving reasons for your answers.

(a) ReflexDb\B
/,DOG Q.)éllO 9-10 (Of*—zj(@@ CQJtN- z1x O'\JIQ@ C,u-c,o»j)
OfL 4ns wo—tlo ¥ Copomg cydicqued)
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16. The points 4 and B lie on the circumference of a circle with centre O,
The straight lines PAQ and RBQ are tangents to the circle.

P

Diagram not drawn to scale

. PAS ; ;
You are given that AQB = 2x, where x is measured in degrees.

. ; A
Write down the size of 40Q in terms of x.
Give reasons in your answer.

AROQ = A 95@

&

L
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13. The points 4, B and C lie on the circumference of a c/i{cle.
The straight line PBT is a tangent to the circle and CBP = x, where x is measured in degrees

Diagram not drawn to scale

FAS
Show, giving reasons in your answer, that the size of 4BC in degrees is 90 — %x.
............. R e s
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Diagram not drawn to scale.

The diagr/a\m shows four points A, B, C and D lying on the circumference of a circle centre
O with AOC = 6x°.
Find an expression for each of the following angles in terms of x.

(i) ABC

Tra /o [ [ ' ,
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